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1. Answer the following questions :

Paper : MAEC-01 frafafea goat & s SifsT .
Time : 3 Hours | [ Maximum Marks : 80 (i) What is meant by indifference curve ?
Note .— The question paper' 1s divided into three Sections AR 9% O o ST ¥ 2
A, B and C. Write answers as per the given
instructions. (ii) Explain the signs of cross elasticity of
et - 7' weA-w ‘e, ‘! SR ‘| R wvel | faurfsa ®) . 4 and their imolicat
S 2 S emand and their implications.
Section-A 2x8=16 o &1 fs dm & o we s fAfeardt i
Very Short Answer Type Questions
(Very ' ype Q ) S -
Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one (ii1) What is meant by elasticity of substitution ?
sentence or maximum up to 30 words. Each
question carries 2 marks. giaears 1 o | = fuu § 2
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(iv) Explain the meaning of optimum scale.
TaH T % 1Y w1 T it |

(v) What is Group Equilibrium ?
T 9= T 2

(vi) What do you mean by Liquidity Trap ?
WA A § SR F AT T 2

(vii) Explain the meaning of Welfare Economics.

FHEATHRT ST & 37ef Tl T HifST |

(viii)) What is the optimal condition of exchange

according to Pareto ?
TR F oTER fatE w1 Tean wd oY 2
Section-B 8x4=32
(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 8 marks.
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(T I q9)
o - fF=l 9 9=l & SW fSul 39 eTue ST Rl
Afrran 200 vk # ufEifaa wifSw) g@s ged

8 3T &1 T

2. Explain the ‘Total Expenditure Method’ of
measuring price elasticity of demand with the help

of diagram and numerical example.

T H ST W hl AU H wd =g oty @

L@t TE S IR0 i FEEdl § FHEET |
3. Explain consumer’s surplus with the help of

indifference curves.

S a5kl i FRTIA F SUHIKT & Afckeh Tt AT

RIS |

4. On which axioms the analysis of Neumann and

Morgenstern are based ? Explain.
AT qA AFTRA w1 faves fEA-fRe W sl |
i § ? T wifsg)
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. Explain returns to scale with the help of isoquant

curves.
THCafd ekl i HeEd | Y9 w1 gfaIEe il THE |
. Explain the kinked demand curve model.

fosmfoa AM o Aiea ® THET

. Describe the marginal productivity theory of J.B.

Clark.

. ol IR & GH 3SRl Taga o1 9019 Shifeid |

. How 1is the wage rate determined by the

Monopsonist ? Can he exploit labour ? Explain.
HIA-THIRR FRT Foigdt X 1 fuieor & foran S
¥ 72 I 9% AW T IOV F HEHAT § 7 TR KIS
. How is general equilibrium achieved ? On which
assumptions is its analysis based ? Explain.

HET 9 kit O g g Bt ® ? 5@ faveroon
fore Trraetl T STeRE ® ? T wifsq)
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Section—-C 16x2=32

(Long Answer Type Questions)

Note .— Answer any two questions. You have to delimit

your each answer maximum up to 500 words.

Each question carries 16 marks.
gug—d
(& I 99)

e .- fordl S wel & SW SIS 3T et SR Stfiehan
500 vIsi # ufiEfid HIfST) g Te 16 3 w6 T
10. Explain the difference between Hicks” and Slutsky’s

approach to measuring income and substitution
effects. Find the price, income and substitution
effects from both the approaches for normal,
inferior and Giffen goods in the event of a fall in
the price of the commodity.

3™ T YfqETad Yorei &l °9d & oo 1E e
% giehior #§ SR aasu| 9% H HEd H HH H
feaftr & T, 69 Td e aegel & foe 2 gftew
T HIAd, 39 Td TIETT G9El 1 A hifsw |
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11. Explain three stages of production with the help
of diagram in which stage will a rational producer

produce ?

TEnfasi i HeFdl 9 3IcUed i i STIEenadi i

TR | T faossiiel Sces Sidl STaw § Sced
AT ?

12. Discuss the Sweezy’s views of kinked demand
curve theory. ‘Hall and Hitch views is an
improvement on Sweezy kinked demand curve
analysis.” How ? Explain in detail.
faepfaa wm o fagra & w@ist 9a &t faeem wifsu)
‘gfa AR fea #1 Ta st & fakfaa o 9% fagemm
T UH GUR T’ H9 ? fowR 9 geeEn

13. Explain the following :

(i) Theory of second best

(i1)) Rawlsian social welfare function
frfafea = we wifsT .

() fsia o= fasm=

(i) Vo T HHISE FHAT R
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